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=R K E7e ¥500,000
R BHIR ¥102,000
=% 18 ¥102,000
2 EAR B ¥102,000
H 5 ¥102,000
feE FT ¥102,000
[FAESEEES ¥33,333
7 FiR k& ¥33,333
S H R ¥33,333
R X7 ¥22,500
0 NG ¥22,500
EH EE ¥22,500
BRE T ¥22,500
BE & ¥12,500
y AR SR ¥12,500
Nt AR ¥12,500
INEE=S ¥12,500
hE &Y ¥0
8 EEEE(E ¥0
=it BER ¥0
BRI IR ¥0
” Sl ¥0
Bt e ¥0
¥R £8H ¥0
24 IR e ¥0
L5 BBMA ¥0
27 A ik ¥0
28 = X ¥0

[OUT]

=t £ B0 =
iz Btk E ¥500,000
2 I £k ¥200,000
; A% B ¥100,000
At BThE ¥100,000
=NIR=FS ¥40,000
KerT Zim ¥40,000
: Sl ERE ¥40,000
R HAER ¥40,000
At EE ¥40,000
RE RKE ¥40,000
R EfE ¥20,000
11 R¥F HER ¥20,000
Fril 2 ¥20,000
CENIN2R hill ¥12,500
y e 1) ¥12,500
= I R ¥12,500
BB a1t ¥12,500
BH BER ¥0
=R R ¥0
18 BH B ¥0
FiE BEAR ¥0
IR TS ¥0
’s NS ¥0
N ZEF] ¥0
’e LA kY ¥0
A KX ¥0
27 F s ¥0




